4 | 3 <& Z 1

REVISIONS
CLOPAY COACHMAN SERIES: GPan, Henn, CGan, Cxon REV. NO| ZONE: | DATE: | ECN NO.[ APPVD: DESCRIPTION
— - THIS DOCR MEETS THE
HOLMES SETTLERS SERIES: swna D tE Ao e ] 00 - 02/2006] - - INITIAL RELEASE
. T 01 - 12/10/08 - - MAX HT WAS 12--0.
IDEAL AFFINITY SERIES: Acnn L0ADS FOR THIE WIND SPEEDS LISTED. BELOW
g%c?ekcba?fsggyfug% RFL_P}?&DQOELITDG SooE 02 - 08/21/12 - - REVISED FOR T,
NOTE: "nn” REPRESENTS THE ARRANGEMENT OF THE DECORATIVE (4) #14x5/8" SHEET
OVERLAYS, THE FIRST DIGIT WILL HAVE A VALUE FROM 1 TO 4 AND RS o Wit B BULDe S b ?oggog )Mmt SCREWS —
THE SECOND DiGIT WILL HAVE A VALUE FROM 1 TC 5. 3) IMPORTANCE FACTOR OF 1.0, 1) ANY SECTION _A—A
ROOF SLOPE, AND 5) 50% S AFETY. FACTOR.

DECORATIVE OVERLAY
ATTACHED TO QUTSIDE SN

WITH PERMANENT ADHESIVE. \

v\ (4} 1/4"3/4" SELF v 27 GA. (0.016" MN.) EXTERI
o ™y, 9 . {0, ) OR STEEL TOP BOLLER BRACKET.
TAPPING SCREWS SKIN WITH G-—40 MiN, GALV,, BAKEDv-ON’"/ 1 EACH E%EKE? CHET
. ' . POLYESTER PAINTED TOP COAT APPLIED TO L/ ATTACHED WITH (4)
. A4 GA.END HINGE BOTH SIDES OF STEEL SHKIN. $14x5/8" SHEET METAL
SCREWS.
3’ STEEL U~BARS MOUNTED

2" THICK BASE DOOR
2-5/8" END STILE THICKNESS

WIND SPEED (MPH)}| £140 {150 | 150
EXPOSURE LEVEL [B or C| B C
MEAN ROOF HEIGHT| 30° 3] 25

12 GA. GALV, STEEL

I’z‘ QVER TP AND BOTTOM OF LHR TOP BRACKET - 27 GA. INTERIOR STEEL. SIGN
§ 1.95" THICK, 14 DENSITY EXPANDED

¥ % ! ?é%%%ﬂ."&%ﬁu SsEgigfs[UnEi'A) POUBLE HORIZONTAL TRACK CONFGURATION ABOVE THE POLYSTYRENE FOAM |£5UU¥”ON LAMINATED ggz"wi';)ﬁ) }%;:‘EFG{AE&\{;Q R

ok J TRACK DOOR OPENING DOES NOT AFFECT TO BOTH EXTERIOR ANG INTERIOR SKINS, BAKED-ON POLYESTER PAINTED

e B o : = THE WiND LOAD RATING. FOAM MANUFACTURED BY PREMIER on cnat APALIED Ty ot

or R ! INDUSTRIES, iNC. SIOES OF STEEL SK.

o

e DOUBLE TRACK TRACK CONFIGURATION 14 GA. GALV. STEEL

L e 1 e 1 R ROLLER HINGE. SEE

a9 o A TOGNGUE ANG GROGVE JOINTS. SECTION C~G

4 .

I; "

4 1 HORIZONTAL TRACK SUPPOR

(=]

g” 4 c WO FOINT 13 GA_GALV. STEEL FLAG BRACKET. gy pooR INSTALLER (TO SUM) - v

i . EACH FASTENED TG WOOD JAMB WiTh x 20 GA, GALV. STEEL U—8AR,
2 =g e 527 won 1 s o LSt B o
[#]

=z i . |, TYP. 2-1/2"12 GA. GALY. SELF TAPPING SOREWS AT EACH
] ! _ LY STEEL TRACK BRACKET. % HINGE LOGATION.
x N . .

J_ i iF DOOR | . BRACKET PLACERENTS TABLE 1 s o 13 GA. GALV. STEEL BOTTOM
L% HEIGHT | " %" T VR | RET] X5 | ReT T ) /SRACKH. ATTACHED WitH {2)
= n 66" | 70" | 3—1/27130" 1 38" 180" [ — - - = ; #14x5/8" SHEET METAL

MAX. DOOR WIDTH = 9—0" x g M 2" GAN. [ r=0 L 7e | 3-T/72" 130" | S8 667 | — — = - DOOR NUMBER OF SCREWS.
& STEEL [T Br A i i s o T~ = == HEIGHT SECTIONS *
INSI ATION 2 TACK  [B=0 |88 [ 3=1/2 107 [ 34 [ 56" |~ [ = [ =T~ SR 4 > Lo
" l_ " i " " L3 W e i —_ — — RUS!ON
" H: ek et e e T e e e FETo 10 0" 5 e VN
TR 1l §E 06 3=172" 110" | o4 | 58 B[ p o 1067 10 120" - WEATHERSTRIP.
I THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING B e [ N I T I I i e e 176" T0 14707 7
LOCATION THERE ARE TWO ACCEFTABLE ALTERNATIVES: ) % 06" 118" | A=t1/2"1 10" i | 8a° A [ 10a] = = 1487 10 180 g
1) THE WALLBOARD CAN BE GUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN - %5 1 T 1267 5tz 10 34 Tea T 82" 1067 = | = « SECTIONS ARE EITHER 18" OR 24" HIGH
YELLOW PINE WOOD JAMBS MOUNTED DWRECILY TO THE SUPPORTING STRUCTURE TO z "%4" L F T 30 a2 e e e | s L iae = |~
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED z H 120" 1367 | 317251 10" | 34" | 58" | 82" | 1087 — | =
DIRECTLY TO THE. SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF & [ 12'—8" 142" 31 /2" 10 | 34" [ sg" | a2 | 106" 130 —
SCREW HOLE MUST BE AT LEAST % FROM BOTH EDGES FOR A 5/16° LAG SCREW. ey 30" 148" | 2172 | 10" | 34" [ 58" 1 827 T 1067 1307 =
2}F THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD Y Sy R R s T R
Qure S, 0 S el ek oo pes o o i AT TR R TR St ooc
STALLED THE WALLBOARD E JAMB ATFACHMENT —F L L et S 25 = Lt _
FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF w2r | 4 T T W W STOP MOULDING BY DOCR
A SUFFICIENT INCREASED LENGTH 10 ACCOUNT FOR THE THICKNESS OF THE . i —H T RV A R T  IaM e T  BErh T INSTALLER (10 Suim)
/ALLBOARD T ENSURE PROPER FASTENER EMBEDMENT INTO THE STRU TR AT =6 1787 31727110 - .. "} 13071 1547
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. Py e=e BeT 317271 107 1 347 68" | 827 | 1067 1307 154 16 GA. MIN. GALV. STEEL END STILE.
1/8° FROM EDGE
r’"—-——:u:‘ 12 GA GHLV. STEEL TRACK
NOIE: B8R ASTENED 7O WOOD :
NUBBORTING STRUCIURAL ELEMENTS JAMB WITH ONE 5/167x1-6/8" 14 GA. MIN. GALY, STEEL CENTER HINGE
™ SHALL BE THE RESPONSIBILITY OF WOOD LAG SCREW PER BRACKET. \.7/16" 1. rOUND FASTENED TO BACK OF DOOR W/{4)
j THE PROFESSIONAL OF RECORD FOR 2" GALV. STEEL TRACK FASTENED PUSH NUT FASTENER.  EACH #14x5/8" SMEET METAL SCREWS,
THE BUILDING OR STRUCTURE AND TO TRACK BRACKETS, EACH 14 GA. GALV. STEEL ROLLER HINGE FASTENED TO END STILES
DU o CObes TOR T LoADS SLILE BOLT BRACKET ATTACHED WITH ONE W/(4) EACH #14x5,/8" SHEEY METAL SCREWS AND (4) 1/47x3/4”
END LOGK ENGAGES 1/47%5/8" BOLT & NUT OR TWO
LSTED ON THE DRAWING. STLE INTQ VERTICAL /4 RIVETS., SELF TAPPING SCREWS,
PARAT] JAMBS . BY, OTHER TRACK. anE 27 10 BALL STEEL ROLLER WiTH
EAGH SIDE STEEL OR NYLON TIRE.
Qﬁl OF DGOR, 5
VERTICAL JAl NT. W FRAM HLOINGS): QRGNAL DRMINGS ARE SIGHED I BRUE
3/6"x3" LAG SCREWS ON 15 CENIERS. f—1/8" 0.D. WASHER REQUIRED, LAG SGREWS e VR A ey SER eecss)
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMES DO NOT TRANSFER LOAD. _ :
VERTICAL JAME ATTACHMENT (C-90 BLOCK OR 2,000 PSE MiN. CONCRETE COLUMN): 14 :
%ﬁg;fgéss&agﬁ)égcxgﬁ ggéggo& glféRgzuraRs {2,000 PSI MiN. CONCRETE). Shup Laten enoaces Y/ / ‘ DESIGN LOADS: +54.0 P.SF. & ~60.0 P.SF. MANUFACTURING PRODUCT COBE:
OR ’ b oNE shap lénrr%-loé)ari gt/ Ml TEST LOARS: +81.0 P.SF. & —-90.0 P.S.F. MPC* DS I ED_ }. M4 79
::é;ngsw’ CON' SCREWS ON 12" CENTERS (2,000 PSI MIN, CONCRETE) OR 7 saLe i Unless Stated Otherwise 8585 Duke Boulevard CLOPAY WINDLDAD RATING
(C—90 BLOCK), 1" 0.0. WASHERS REQUIRED WITH TAPCONS. Mason. DI 45040 LSA
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) 7O PROVIDE A FLUSH MOUNTING S8/ e TOLERANCES are B opay Tol Mo, B13-370--4800 \/\/ 8
SURFACE. HORIZONTAL JAMBS DO NOT SFER LOAD. ouTSIDE o ) 0 = +.031 Bullding Products Company Fax No. 513-770-4833
HANBLE QUTSIDE KEYED v END ) .00 = +.015 . "
OTHER JAME CONFIGURATIONS: REFER TO DASMA TDS—-161. A LICENSED DESION HANDLE STLE 600 = & .G05 DESCRIPTION: 2" SINGLE CAR DSI W/ OVERLAY W8
e e A oS0 BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR ENGAGES 15 weioe nawowe  |DESIGN ENGINEER: MARK WESTERFIELD, P.E; o000 = +.001 |DRAWN BY: RiK. DATE: 5/10/05 | SCALE: NONE Ipwg
. TRACH O FLORIDA P.E. #48495 ' Py '
OUTSIDE_ KEYED_LOCK , =
T ALK oFooor NP LATCH L0GK QPTION NC P.E. #zssﬁz Degrees = +1/2° |CHECKED BY: SH DATE: 11/21/05 SHEET 1 OF 1 [SIZE
. TEXAS P.E. #91513 Unless Stoted Otherwise
# DIMENSIONS ARE N INCHES. [ DWG. NO.: 103436 VER: 1BC

4 3 AP g 1




